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��� ��! ��
�� ����� �� �����* +��, 	� �-�� ��� ��./ ����� 0� � �� 	� 12
# ��# 34� 	56�� ����� ���� 	��� �� 	��

$%� ���7 � �8��.9�:;!�GP2-EL5��� <��= 	� >���
 �
 ��
�� ����� �� 	� $%� ?�� = �� @A�� 	56/ ��� 	��

9�:;!� &���� 	� � ���

GP2-EL11'�� �
 12
�� �� ?�� = �� @A�� +�56/ ���7 ������ ������� ��� ��! ��
�� ����� B%�� �-�� 	� .

� �
� ��= 	� $%� ��C 	� ?#� D� '!� �� 	
�� �=1ϕCOS��� <��= ��= � $%�  �
 1��� E� �� 	�� �� 	��

$%� 0� �!�
3�� F��G '!��.

= 4.45A                             
220

1000I=→10*100=1000W→ 9�:;!�GP2-

EL5

= 4.45A             
220

1000I=→10*100=1000W  → 9�:;!�  GP2-

EL11

 HI5
 �� E2% 9�:;!� �� 1�� ���� D�1.5mm #�2( &���� 	� 10A $%� �(��  .���7 	����� ������� ��� ��/ 	� &�JK 

L�( 9�:;!� �� ��'�
M� ?�� =�� @A�� +�56/ 	� >���
 	� #� ��# ��� 9�:;!� 32! ���� �
 12
��.

 ����� 10�
�100W →  9�:;!� GP2-EL6→ 	����� E ! �� E4�� +�56/ ���'!��� ����� 	� .

= 4.45A                              
220

1000I=→	42
! �� 

 �����8 �
�100W→9�:;!�GP2-EL7→'!��� ����� 	� E��32% �� E�� +�56/ ��� 	�����  .

= 3.64A     
220
800I=→ 	42
! ��  

�����10 �
�100W→9�:;!�  GP2-EL12→ ����� 	� E ! �� E4�� +�56/ ��� 	�����   '!��'! .

= 4.45A                                                 
220

1000I= → 	42
! ��  

 �����       8 �
� 100W→ 9�:;!�   GP2-EL13→���'! ����� 	� E��32% �� E�� +�56/ ��� 	�����    .
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=3.64A                           
220
800I= →	42
! ��   

 ��� ����N 	� 	N�� ��� E���� 	6%�O
 �� ���7 	����� ������� 	� >���
 9�:;!� P� �� ����N '� 	)QJ
 	� ��I!���

 &'
" $%'� E2% #� �� �� 9�:;!� ?���1.5mm �� 	/���
 ��� #�2(�10A E��2� �
 �)! �� . ���7 	����� �%��� #� D�

! ��Q 	� $��'%� �
 �8�� 	�����. � !" #� �� 	% 	� $%� &'� &��R
%� 9�:;!� P� #� �8�� 	����� ������� ���� E� #��

  ��� <��= S�TU
����� ��'� ��� <��= �����-�� ��� 	% � '�
M� �������� . �
 9�:;!� P� 1�� �%��� 	� ��Q

E�#����:

 �����          10 �
�100W →9�:;!�   GP1-EL3→'!��� ����� 	� ?�� = �� @A�� +�56/ ��� 	�����    .

=  4.45A                              
220

1000I= → 	42
! ��  

 �����     10 �
�100W→9�:;!�   GP1-EL4→'!��� ����� 	� E ! �� E4�� +�56/ ��� 	�����    .

= 4.45A                            
220

1000I= → 	42
! ��   

 �����  8 �
�100W→9�:;!�   GP1-EL5→'!��� ����� 	� E��32% �� E�� +�56/ ��� 	�����   .

=3.64A                                          
220
800I= →! ��    	42


'!�� �
 1��� E� �� �� 	����� <��= ?��� ���# E�� &��� W�( 0� �� �!�
3�� F��G 	� $%� ��C 	� ?#� E� #��.

9�:;!� GP1-EL13→ �5
M
 12
# ��# �� 	� ���
 
 	% &��� � '!��'! ����� 	� ?�� = �� @A�� +�56/ 	�����  

'���� �
 .

= 6.7A
5.0220

803
×
×+ 

220
10010×I= → �����   10 �
�100WX��� ���
 
 	% &��� � �� 	
��

 �� $�%���( ��� <��= ���� F��G0.5E��2� �
 �)! ��  .

 �����            10� �
100W→9�:;!�   GP1-EL14→'!��'! ����� 	� E ! �� E4�� +�56/ 	�����   .

= 4.45A                             
220

10010×I= → 	42
! ��  

 �����8 �
�100W→9�:;!�  GP1-EL15→'!��'! ����� 	� E��32% �� E�� +�56/ 	�����  .
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= 3.64A                                    
220

1008×I= → 	42
! ��  

 ���� �8�� 	����� ������� 	� >���
 9�:;!� P� ���� &'� 	6%�O
 ��� ����N 	� 	N�� �� ��� �
 	)QJ
 	� ��I!���

�� E2% �� 9�:;!� �
�1.5mm #�2( ��10A$%� F%��
 � �(�� .

 ������ �� ����  �!�" ��#� 

���� �$�%�
� �� &����  ���'()� 
�� ���� 
 �� ��� ������

 �%��� 	� $��! ��Q'%� �
 �� ����� ������� 	� >���
 +���:;!�. 	56/ �� �� �
 E2M5� $�M8 	% 	� �� ����� �������

��� .M8 0�'�� �
 S�T
*� ��* 	� �� ��M!�%" ���N 	/�O
 	� '��� �
 ����� B%� ������� 	� >���
 $� . &�JK

$%�� 'Q�� 9�� �Y��Q 	� >���
 	� ���� ��N� 	2Q�! 1�� 12(�/ �� E� PU� �� $�M8 1�� ��. ������� �Q��/ &�O!
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 #� @A�� 	56/ ����� 9�� ���'!�� �
 	�Z[� ����IG� �������� +���:;!�. @T! 	56/ �� �� L�� HI8 H8��
 �� D�

 '����* 1��� '!�� �
 	�Z[� ����IG� +���:;!� #� 	� 32! �� 	����� ��� <��= �
��� � ��� �
 1��� ����� <��=

���.�I� \�T
 E� ��� �
� #� �� ����� ������� ���� ��� �18W$%� &'� &��R
%�. E� ��� �
� ���� F��G

E2�� �
 W�( 0� �� \�T
   .

$%� ��# ���8 	� �� ����� ������� 	� >���
 +���:;!� 	2��:

= 1.23A
220

1815×I= →9�:;!�  GP1-EL6→ ?�� = 	56/ �� @A�� 	56/ #� ����� �8�� $�M8  

= 1.23A
220

1815×I= →9�:;!� GP1-EL7→4�� 	56/ #� ����� �8�� $�M8    E ! 	56/ �� E

= 0.99A
220

1812×I= →9�:;!�   GP1-EL8→ E��32% 	56/ �� E�� 	56/ #� ����� �8�� $�M8   

= 1.31A
220

1816×I= →9�:;!�   GP1-L6 → 	56/ �� @A�� 	56/ #� ����� �8�� $�M8 ?�%

= 1.31A
220

1816×I= →9�:;!�   GP1-L7 →56/ #� ����� �8�� $�M8    E
R� 	56/ �� ?�� = 	

= 0.99A
220

1812×I= →9�:;!�   GP1-L8 →E�� 	56/ �� E
;� 	56/ #� ����� �8�� $�M8   
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= 0.99A
220

1812×I= →9�:;!�  GP1-L9 → E��32% 	56/ �� E��#�� 	56/ #� ����� �8�� $�M8  

 	� ��� �
 	)QJ
 &'
" $%'� ��� ����N 	� 	N�� �� E2% �� ����� �8�� $�M8 ���� 9�:;!� $R� �� ����1.5mm

 #�2( ��10A$%� F%��
 � �(��.���7 $�M8 ��QE2�� �
 9�MQ �� �� �����  :

= 1.23A
220

1815×I= →9�:;!�  GP2-EL8→ ?�� = 	56/ �� @A�� 	56/ #� �� ����� ���7 $�M8  

= 1.23A
220

1815×I= →9�:;!�  GP2-EL9→ E ! 	56/ �� E4�� 	56/ #� �� ����� ���7 $�M8  

= 0.99A
220

1812×I= →9�:;!�   GP2-EL10→� ����� ���7 $�M8   E��32% 	56/ �� E�� 	56/ #� �

= 1.31A
220

1816×I= →9�:;!�GP2-L5 →?�% 	56/ �� @A�� 	56/ #� �� ����� ���7 $�M8  

= 0.99A
220

1812×I= →9�:;!�  GP2-L6 → E
R� 	56/ �� ?�� = 	56/ #� �� ����� ���7 $�M8   

= 0.99A
220

1812×I= →9�:;!�   GP2-L7 → $�M8   E�� 	56/ �� E
;� 	56/ #� �� ����� ���7

= 0.99A
220

1812×I= → 9�:;!�   GP2-L8 → E��32% 	56/ �� E��#�� 	56/ #� �� ����� ���7 $�M8   

�� �
 	)QJ
 &'
" $%'� ��� ����N 	� 	N�� �� �� ����� ���7 $�M8 	� >���
 9�:;!� $R� �� ���� 	� � E2%

1.5mm #�2( ��10A$%� F%��
 � �(��.E2�� �
 ���8 �%��� ���
 �� �� ����� �!�2
 $�M8 ��Q :

�
� �� = X
��  100W �
� &�#��� �18W→9�:;!�  GP1-EL9→ B%� $�M8   	56/ #� �� �����

 ?�% �� @A��

= 2.8A                  
220

)1812()1004( ×+×I= ⇒

= 1.31A
220

1812×I= →9�:;!�   GP1-EL10→E
R� �� ?�� = 	56/ #� �� ����� B%� $�M8  

= 0.99A
220

1812×I= →9�:;!�   GP1-EL11→ E�� �� E
;� 	56/ #� �� ����� B%� $�M8   
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= 0.99A
220

1812×I= →9�:;!�   GP1-EL12→ E��32% �� E��#�� 	56/ #� �� ����� B%� $�M8  

= 2.54A
220

1831×I= →9�:;!�  GP1-L10→  ?�%�� @A�� 	56/ #� �� ����� B%� $�M8  

= 2.3A
220

1828×I= →9�:;!�   GP1-L11→ E
R��� ?�� = 	56/ #� �� ����� B%� $�M8   

= 1.72
220

1821×I= →9�:;!�  GP1-L12→ E���� E
;� 	56/ #� �� ����� B%� $�M8   

= 1.72A
220

1821×I= →9�:;!�   GP1-L13→ E��32% �� E��#�� 	56/ #� �� ����� B%� $�M8   

 �� ����� B%� ������� $�M8 	� >���
 9�:;!� $;� �� ���� 	� ���� �
 	)QJ
 &'
" $%'� ��� ����N 	� 	N�� ��

E2%1.5mm #�2( ��10A$%� F%��
 � �(�� .

������ �� *��� �$�  �!�" 
�� �$�+ �� &���� ���� 
 ��� ������

 #� P2�'!��� +�� � 	
��% 	% +�]�;
 � �
��K 1��
� ��� 3��� 	2�� 	� $%� ��C 	� ?#� �� ����N 	6%�O
. 	56/ ��

 12
# ��#^_ #� 3��� ��'5
 1�� 	� $%� &'� 	26:� 3��� '!�� �
 	�Z[� @�
U
 9�:;!� �� =. �� ��N�
 ��� 3��� 	2��

 �� +�]�;
200W ���� F��G ��0.8 �!�
3�� F��G � 0.7 E��2� �
 �)! ��  3��� �
��� #� `U;
 ��
# 0� �� ���#

��� ��! &��R
%� ��.#� '����6K +���:;!� 1�� :

= 6.36
8.0220

7.02008
×
××I= →  3��� $;� �����  → 9�:;!�GP1-S1

= 5.57A    
8.0220

7.02007
×
×× I=  →3��� $R� �����→ 9�:;!�

GP1-S2 = 5.57A             
8.0220

7.02007
×
××  I=  →������� $R� �3→9�:;!�   GP2-S1 

= 5.57A
8.0220

7.02007
×
××I= →  3��� $R� �����  →  9�:;!�GP2-S2 
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��� ����N 	� 	N�� �� E2% �� ���� �
 �� 9�:;!� �� = 1�� 12
# ��# ��� 3��� ���� &'� 	6%�O
 2.5mm #�2( � 

16A��� &��R
%�. 9�:;!� ���
 �� ��a
 ���� E2�� �
 9�MQ �� �� E2% ��/ #� ���! b�
Y� $(� �����GP1-S1 	� 

���� �

 �% ��'Q �� �Y�/ .

= %1.1310-2 
2205.2

8.03036.6064.2200
×

××××
S1= α

 b�
Y� $(�%1.13 � E���� 9�MQ B* �� 
!� �� �� ��� X� �
 	
6Y� $%� ��68 X��8 E2% �I8 1�� 	� 	N�� �� 	� ��� '���* 

� �'K 1�� #� �:8�� ��'5
 	� $%� � �'���� '���* �
�. 32=�! � W��8� X��8 �� �� 3��� #� ���! b�
Y� ��� $(� X� D�

E2�� �
 W�( .

 	�Z[� �R�
U
 +���:;!� #� $RN $RN 	� $%� &'� 	26:� 3��� �� = ��,� ������ �� E��32% �� @A�� #� 	56/ �� ��

'!�� �
 .

� �
 ��# +��, 	� E��32% �� @A�� +�56/ 3��� +���:;!� 	2��'�� :

= 7.95A
8.0220

7.020010
×
××I= →9�:;!�GP1-S3 → �� @A�� 	56/ #� ����� �8�� $�M8 ��� 3���  

?�� =

= 7.95A
8.0220

7.020010
×
××I= → 9�:;!�   GP1-S4 → E ! �� E4�� 	56/ #� ����� �8�� $�M8 ��� 3���   

= 6.36A
8.0220

7.02008
×
××I= → 9�:;!�   GP1-S5 → �� E�� 	56/ #� ����� �8�� $�M8 ��� 3���   

 E��32%

= 7.95A
8.0220

7.020010
×
××I= → 9�:;!�   GP2-S3 → @A�� 	56/ #� ����� ���7 $�M8 ��� 3���    

 ?�� = ��

= 7.95A
8.0220

7.020010
×
××I= →9�:;!�   GP2-S4 → �� E4�� 	56/ #� ����� ���7 $�M8 ���3��� E !

= 6.36A
8.0220

7.02008
×
××I= →9�:;!�  GP2-S5 → E��32% �� E�� 	56/ #� ����� ���7 $�M8 ��� 3���   
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O
 ��� ����N 	� 	N�� �� E� #�� E2% �� �� 9�:;!� P� 1�� E��32% �� @A�� +�56/ ��� 3��� ���� &'� 	6%�2.5mm

 #�2( �16A �� �� 3��� ���'!�
%� E� � $%� &'� $��K� �� E2% #�4
 ����N E� 9�U
!� 1�� c6/ �� ���# E2�� �
 &��R
%�

;2� �-�� ��� $�M8 #� ��� E2% b��

 	� $�M8 1�� �� 	A��� E� � E���� $��K� $%� �
�� b�
Y� $(� �I8 1�� 9�M
Q� 

�!'� '���* 32=�! E2% ��/ #� ��  .

 9�:;!� #� ���! $(� ��a
 ����GP1-S3 �6��5� ��/ ��  40mE2�� �
 9�MQ ��  :

= %1.910-2 
2205.2

8.095.740064.2200
×

××××= S3α

 E2% 9�M
Q� �� 	� $%� �� ;
2.5mm$%� ��68 X��8 � 32=�! b�
Y� $(�  .

 ,$��� 
�� �����

E�#���� �
 L�� H�#�� ��� ����� �%��� 	� �����. �� �
 ��� &'��� \�T
 �
��� 	� $%� ��C 	� ?#� �%��� #� X68 1��

 �
 �Y� '!#�RA� �!�AM
 H�
4
$%� #�( 	% E���� $(���� � � L�� #� 	� �� ��,� 9�:;!�. � F2��� 	� �� ����� �� D�

 #�( 	% �� #� �2Y��

R,S,TE2�� �
 &��R
%� . �� ����� 	A��� X2Y'� ����� �� 	� &'� ���� ��,� 9�:;!� ����" $%'� ����

 D�% � E2�� �
 9�MQ �� ����� �K�( 9�:;!� �� ����N �'
�� '!#�( 	% 	� >���
 ����5
 ��:� E2�� �
 H�N E� �� �� 	��

 #�(R #�( 	� >���
 ����5
 � E� �� �� S #�( ����5
 12�d�� � E��� E� �� T �" �� 	� E2!�'2
 ����� E2�� �
 H�N E� �� �� 

'�� �
 ��6K �� �!���N 	= #�( �� ���3
 �����. E2M5� 	% ��� E�2� H�N E� �� �� #�( 	% 1�� ��� ��Q ����N X� E2��

'
" '���* $%'� #�( 0� ���:
. ����� � E�� &��� 9�MQ �
;2� �� �� ����� �
��� +���:;!� 	� >���
 ��� 1���N 	2�� �


E2�� H�N E� �� �� ����5
 �" 	� $%� �(��.

      -�� �����KW.H 

 L�� ����� &�-
%� &��� ='���� ��C �
;2� 	� ��I!���KW.H
�� ?�'� �� 	�  $;� 	� >���
 #�RA� ��
�� $;� X

'!� &'� 	26:� +�56/ 12��
 '���� �
 	56/ �� 'Q��. ��'Q �� ���!�* �� �(�T
 ����N �
16A 	� D�2%� E2
(�� �)! ��

 ����� � ��
�� 12��
 9�:;!�DP �� ��� �
 12
���� 4mm E2
(�� �)! ��  . L�� ����� ��,� 9�:;!� ���� �'2� ���� �����

KW.H��  #�( �� #� &'� &'2;� ��� ����N 	2R,S,T ��� ! ����N �� E2�� �
 E2M5� 	% �� � E2�� �
 H�N E� �� �� 

'�" $%'� .
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A7.238.49 −∠= 45.5-j20 = ( ) 37.236.16 ×−∠=  #�( ����N  R

A7.238.49 −∠= 45.6-j20 = ( ) 37.236.16 ×−∠=  #�( ����N  S

A7.232.33 −∠= 30.4-j13.3 = ( ) 27.236.16 ×−∠=  #�( ����N   T

A7.237.132 −∠= 121.6-j53.3 =  #�( 	% �� X� ����N   

A      7.2344 −∠=  #�( �� ���:
 ����N   

  #�2( &'
" $%'� ����N 1�� 	� 	N�� ��A
160
50

'��� �
 F%��
 #�( 	%.

 E2% #� ��
" e�� � X = �� X = ����N ���� ���:
10mmE2�� �
 &��R
%� . �� ����� b�
Y� $(� HI5
 fI% 1�� 	� 	N��

 L�� ����� 	6:N �� #� �� E2% 1�� #� ���!KW.HE2�� �
 9�MQ 12
# ��# �� ��N�
 ��,� ����� �� . ��� 1�� ?�4!� ����

 	6:N 1��� ���

 ����� �6��5� 	�,�( 1�� 	� E��2� �
 �)! �� ��,� ����� �� �� ��
��40m'��� �
  .

= %1.5110-2 
22010

915.04440064.2100
×

××××= α

 �" #� ���6K ����N ��'5
 � E2% HI5
 fI% 1�� �� 	� ��� �
 &'��;
$%� W��8� X68� � 32=�! b�
Y� $(�. E2% D�

10mm$%� �6%��
 9�U
!� .

���    -�� ��LIFTB 

'��� �
 ��M!�%" 	� >���
 � ����� ������ ����� 0� L�� ����� 1��. 	�Z[� 	��N #� ��M!�%" 	� >���
 +���:;!� #� 0� ��

� 3��� � �������� ��M!�%" ��* ��� ..... �
 ����IG� 	!�* ����
 ����� #� ����� 1�� ��,� 	�Z[� � &'� ���� ����� 1�� 	�

'���. �� D�$��� '����U! ��A;
 �� ��M!�%" � � L�� 	A6� �� `5! ��N� +��,. 9�:;!� P� ����� 1�� ��

 ��� ��';� <��= ���� 9�:;!� 0� � ��M!�%" X*�� 3��� `
U
 9�:;!� 0� � '��� �
 �� ��M!�%" ������� S�TU


 	� >���
 #�( 	% 9�:;!� 	% � �
���	� 32! 9�:;!� �� $%�� ��M!�%" ��* 	�Z[�'!� &'� 	
(�� �)! �� ��'� +��,  .

'��� �
 #�RA� +��T� +���:;!� �8�� ��M!�%" 	% �� 	�Z[� #�( 	% 9�:;!� 	% 34�.��32
 	A�M�� 	� 	N�� �� \�T
 

E�� &��� �'
 #�( 	% ��
" &�3!�� �� ���'Q �� �� ��M!�%" .

E2�� 	6%�O
 �� #�( �� #� &'� &'2;� ����N ��'5
 E2!��� �
 �����E���" $%'� �� ���:
 ����N X� c��/ �" #� ��  .
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= 59A     #�(R

= 58A                             #�(  S

= 54A      #�(T

= 57A         
3

545859 ++=   #�( 0� ���:
 ����N  

 X��� 	A��� 	� 	N�� ��16mm X�O� ���!���65A X��� #� ��M!�%" ����� ���� ���� �� 16mm�� �
 &��R
%�E2. �����

E2�� �
 9�MQ HI5
 fI% 1�� �� ��M!�%" ����� ��,� 9�:;!� ���� �� b�
Y� $(� ',�� . 9�:;!� �6��5� ��/ 	� 	N�� ��

 ��'Q �� 	� ��M!�%"60mE���� $%�   :) ���� F��G W�( ��0.5��M!�%" ���� (

= %110-2 
22016

5.05760064.2100
×

××××= α

 #�4
 � i'!� b�
Y� $(� 	� HI5
 fI% 1�� �� 	� ��;2
 	)QJ
 D�%1 HI5
 D� E2%� �
 16mm ��� 1�� ����

 $%� F%��
 .

 ����N 9�M
Q� �� 12�d��57A 9�:;!� 1�� F%��
 #�2( 80A'��� �
 .

    -�� �����GP1

$%� &'� X2A;� ����IG� � ��
�! $�M8 �� #� '��� �
 +�]�;
 � 12
# ��# � �
��K 1��
� 	�Z[� ���� 	� ����� 1�� .

 &b��� 1�� F��:
 #� 1�� � '�
(�� ��! ���8 E� ���� ����� 0� �� ����IG� � ��
�! ��� $�M8 	� ��� �
 �
 � 	
6Y�

��� �
 9�MO
.�
�! $�M8 L�� ����� 1�� �22 9�MQ �
;2� �� +���:;!� 0� 0� ����N 	2�� 	� ���� 9�:;!� 

E����. ����� ����IG� $�M8 12�d��24E���� 9�MQ �� � !" �
��� ����N 	� &��� 9�:;!� . 	� $%� ��C 	� ?#�

 L�� ����� ����IG� $�M8GP1

'��� �
 P���� ���� 9�:;!� �� = �����.#� �� �� P���� �
 j�! 800W ���� F��G �� � 0.8 �� 	� E�� &��� W�( 

���� �
 ���8 1�� #� �� P���� 	� >���
 9�:;!� �� ����N +��, 1��= 4.5A          
8.0220

80
×

I= 

 32! �3��
 1
!" ���( ���
" 	� >���
 9�:;!� 12�d��5A�( ���
" 	�Z[� $ N '�� �
 \�T
 ��. ����� 1�� +���:;!� 	2��

 #� � &��� 9�MQ �� �� #�( 0� 0� ����N ����� 	� &'� ���� ��,� X��� ����N � X��� 	6%�O
 ���� 1������� '!#�RA�
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 E2�� �
 9�MQ �� ���:
 ����N � !" ���. �� �� 3��� ���� F��G0.5E��2� �
 �)! �� . �
 9�MQ �� ��
�! $�M8 �'
��

2�� E :

A    4.1033.26 −∠ =   25.9-j4.76  =  86.3695.705.19 −∠+∠   =  #�(R

 ��� ����5
 ��19.5A � '���� �
 ��'� +���:;!� � ������� 	� >���
7.5A$%�� 3��� 	� >���
  .

         A6.192.30 −∠ =  86.3695.786.3636.601.17 −∠+−∠+∠= #�(S

A3.171.24 −∠= 86.3636.686.3675.5047.13 −∠+−∠+∠= #�(  T

A                                                165.80 −∠=  #�( 	% �� ����N j��4
   

 E2% #�4
 ����N 	A��� � &'
" $%'� ����N 	� 	N�� ��6mm ����� 35A F%��
 9�:;!� 1�� ���� E2% 1�� 1���� ��� $%� 

'��� �
 .� �� �� 	� ���4!" #� �����GP1 � MPB '���� �
 12
# ��# �� $%� �" 	�Z[� 	�  � !" 12� 	�,�( �a��'Q

17m'��� �
.E2�� �
 	6%�O
 �� b�
Y� $(� ��32
 HI5
 fI% 1�� ��� E2% b��

 1�� �� 1������� :

= %0.710-2 
2206

96.0178.26064.2100
×

××××= α

$%� W��8� X��8 � E� ��2M� b�
Y� $(� 1�� 	�. 9�:;!� D�6mm #�2( � 40A'��� �
 F%��
 ����� 1�� ����  .

 E2�� �
 ?�4!� ����IG� $�M8 ���� �� +�6%�O
 12�� ����� :

A1012.31 −∠=86.365.486.365.4045.23 −∠+−∠+∠=  #�(  R

A                 5.53.28 −∠=86.365.4057.24 −∠+∠=  #�(  S

A                      722 −∠= 86.365.402.18 −∠+∠= #�(  T

 A                                                 6.734.81 −∠=  #�( 	% �� H�N  

A                                       6.711.27 −∠= #�( �� ���:
 ����N  

 E2% F%��
 E2% &'
" $%'� ����N 	� 	N�� ��6mm '��� �
 . E2% ��/ �� �����17m fI% 1�� �� �� b�
Y� $(� ',��

E2�� �
 9�MQ HI5
 .

%0.7110-2  = 
2206

99.01711.27064.2100
×

××××=α

Y� $(� 1�� 	� E2�2� �
$%� W��8� X��8 b�
. E2% D�6mm #�2( �� 40A$%� F%��
  .
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     -�� �����GP2

 L�� ����� Xa
 $%�� 32! L�� ����� 1��GP1 ����IG� $�M8 0�� ��
�! $�M8 0� �" '�!�
 	� $%� +�]�;
 `
U
 

 Xa
 $%�� E2% �I8 	6%�O
 ���� ����GP1 E2�� �
 X�K  . ��
�! $�M8 ���� �'
�� :

A4.165.25 −∠= 86.3636.686.3657.509.14 −∠+−∠+∠= #�( R

A                   7.126.21 −∠=  86.3695.7075.14 −∠+∠= #�(  S

A183.26 −∠= 86.3695.786.3657.5014 −∠+−∠+∠= #�( T

A                                                  5.1525 −∠=  #�( 	% �� H�N  

 E2% #�4
 ����N 	� 	N�� �� E� #��6mm$%� F%��
  . b��

 �� �����17mE2�� �
 9�MQ �� b�
Y� $(� �a��'Q :

= %0.6510-2 
2206

96.01725064.2100
×

××××= α

 E2% 9�:;!� 1�� ���� D� $%� W��8� X��8 b�
Y� $(� 1��6mm #�2( �� 40A'��� �
 F%��
   .

 E2�� �
 	6%�O
 �� ����IG� $�M8 ��Q :

A                           58.30 −∠= 86.365.4008.27 −∠+∠= #�( R

A112.28 −∠= 86.365.486.365.40 −∠+−∠+∠47.20= #�(  S

A4.113.27 −∠= 86.365.486.365.406.19 −∠+−∠+∠= #�(  T

A                                92.86 −∠=  #�( 	% �� ����N j��4
  

A                                                    97.28 −∠=  #�( �� ���:
 ����N 

 #�4
 E2% &'
" $%'� ����N 	� 	N�� ��6mm '��� �
 . E�2� �
 9�MQ �� b�
Y� $(� ',�� ��Q :

%0.75= 
2206

98.0177.28064.2100
×

××××=α

$%� W��8� X��8 � E� ��2M� 32! b�
Y� $(� 1��. E2% D�6mm'��� �
 F%��
 . #�2(�
 40A 9�:;!� 1�� ����  �� 

E2�A2
 9�U
!�  .
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��  �$ �)�. ����� ���MPB

 '2�� 0� �� 	� $%� &'� X2A;� ����IG� � ��
�! $�M8 �� #� &��
M�� ����� 1��change over'��T

 E� 	� . 9�:;!�

 ��
�! $�M8 ���� ��,� ����� #� ��,�MPB '2�� B%�� #�( 	% 9�:;!� 0� B%�� � ��� �
 change over $�M8 

'�� �
 	�Z[� �� ����IG�.�Q �� '2�� E2
M� XT

 � � L�� 	� 	� ���K $Ychange over 9�:;!� 0� B%��  L��

MPB '�� �
 12
�� �� ����IG� . '2�� L�� HI8 �
Q �� � ��
�! 	A6� �� �T5! �� #��� +��, �� ��Qchange 

over ����� 	� �� �����!b �3�� � &��� $2:G� �22[� MPB '�� �
 X,� ����IG� .
 ����" $%'� ���� � �� X��� H/�5

 '��� �'
�� �� #�2( &#�'!�MPB E2�� 	6%�O
 �� ����IG�  .

MPB ��� ����� ����IG� EGP1,EGP2 '�� �
 	�Z[� �� ��M!�%" � . ���� &'� 9�MQ ��� ����N ���� �
 D�

 ��� H�N E� �� �� � !"                                                                    :

6.32285 −∠= 921.866.734.8160171 −∠+−∠+−∠= ������ X� ����NEMPB  #�( 	% +��, 	� 

A    6.325.92 −∠=  	� &'� ���� #�( �� ���:
 ����N  EMPB

 X��� #� ����N 1�� ��6K ����3*35+16mm 9�U
!� 	5��/ #�( 	% +���:;!� ���
 �� 	� E2!�'2
 ���# E2�� �
 &��R
%� 

  �� X���6/ ����� ' ��* +��, 1�'� #�4
 ����N c .

 ��QMPB� �� ��
�!E2�� �
 �%��. ����� 1��GP1,GP2 '�� �
 	�Z[� �� ��
2%���� � ��
�! .

A6.26430 −∠= 165.805.1514.756.32285 −∠+−∠+−∠= ������ X� ����N MPB

  #�( 	% +��T�

A              6.266.145 −∠=  ����� X� ����N  MPB #�RA� ���:
 +��T�

E���� W�( 0� �� �!�
3�� F��G +�]�;
 ��� ����� 	6%�O
 �� 	A��� 	� 	N�� ��. �� <��= �
��� &�� k2� X�K �� �Y�

 �'!�� ��! \�T
 E� 9� �� P� ��� � �� 3��� . �!�
3�� F��G D�0.7� �
 l�OY 	!�* ����
 L�� ����� ���� �� E2� .

 ������ #�RA� ���:
 X� ����N D�MPB�� $%� ����� ��2� �
 9�:;!� ��,� ������ #� 	�  :

A   6.26102 −∠

 X��� �I8 &'
" $%'� ����N 	� 	N�� �� 	�3*50+25mm  �� #�2( E2!��� �
 � ��� �
 160AE2�� 9�U
!� .
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 b�
Y� $(� E� 0��3! �� 08��� 0� �� 12
# ��# �C �� ����� ?��� ���# $%� E� ��2* ��,� ������ �� �� ����� 1�� ��

'�:8��.

 -�� 
�����MDP  

 ����� 	� $%� ��,� ������ ����� 1��15 '��� �
 9�:;!�.14 +���:;!� � !" ���14 	� 9�:;!� 0� �'�
M� ��
�� 	6:N

������ '�� �
 	�Z[� �� 	!�* ����
  �
��K 1��
� �
��� ���� &'� \�T
 �b�!� ��'5
 	� $%� #�( 	% ��
�� 0� �����

 '�� �
 9�MQ �� +�]�;
 �.X� ����N ����N �� ����� ���� �
 12
�� � � L�� #� 	� ����� 1�� 14 &���� 	� ��
�� ������

����N����������
$%� 	!�*. ��'Q �!���N �2%�R� 1�� 	� 	N�� ��750A &��R
%� 	� �#�2( D� '��� �
 #�( �� ��#� 	�

 ��;2
800A$%�. ��
�� ������ ���� #�( �� ���:
 ����N ���#44A� '��� �
 #�( 	% +��T� D130A ��� �


.  	!�* ����
 L�� �����
!  12�d�� ��'Q �� �#�( 	% ����N430A X� #�( 	% ����N 9�M
Q� 1�� �� 	� '�� �
 \�T


 '� '���* ���8 1�� #� E
M2% :

I= 14*130+430=2250A

 ����� #�( �� ���:
 ����N D�750A #�2( #� 12�� ���� �'� '���*800AE2�� �
 &��R
%�.

   .                                                                                                    


